M80 X 2 PITCH

SUIT TO KM16 3 mm thick 3mm A,._w_n_n
LOCK NUT cover plate MMMM P MMME
_ o MOC - S5-316 SO
BEARING | Q
M20X40 R o g 8
DEPTH POSITION | a8 °
|l TAPERL12 _m_ .
M12 X35 | 8 499 ©83 | l
PCD @55 | ®80 — — ) 5
4 HOLES ! v F.l._rh\\\h B 5 8o S,
i = M.u
i8]
oiia DAXS0 m | g
L. m s s
....l-w.lulo..l..I-I-I-I-ll-l.lul-ll-l-l-l-l-ll -— O s v s
\ & 8 5 ot o @ A
00 |1 8 e m Q a @ p
< .m.“ ©
| v
Y ¢ i
(31 8 |5 y
I 0 f . 28 _ _
| 79
; 8 . e NAECNS 9 3200 S ohe
WA e 2B b -
|
e 3967
Note:

SHELL MOC : SEAMLESS TUBE

SHELL OD : 319 MM

FINISHED OD : 339 MM g
COVER MATERIAL : BLACK DIAMOND
COVER THICKNESS : 10 MM

COVER HARDNESS : 100 ° Shore A

1. Bearing Seating area to be finished with + 60/70
microns as per bearing no. SKF 22216 EK C3

2. Roll has to be dynamically balanced at 250 MPM speed.
3. Roll cover should be free of any blow holes and should
have good finish.

4. Roll should have parallel surface / ZERO camber.
5.Gudgeon of length 250 mm{MOC : Cl GR 25 ) ta be
shrink fitted in the shell on both sides.

6. Shaft to be shrink fitted to the Gudgeon on both sides.

$89
®89

= P95

=

=~ |
~
a8

BEARING
.« POSITION.
! TAPER 1:12

383

L

MS0 X 2 PITCH
SUITTO Km1e | M20X40
LOCK NUT DEPTH
J o727 KEY WAY
. Y A T 3
072 975 ﬂ_pcx”_mxam
2 4 F(“ ”"ﬂ;
allll e — &
0
8 W ——— SW am
- - -.._:- . T- 3 lm rnDu
: ¢ ®
¥

478

BANK NOTE PAPER MILL INDIA PRIVATE LIMITED
MYSORE-570003

SIGNATURE | DATE

vwmvbam

ﬁrﬁn\ A%s_,m

CHECKED
BY

WIRE DRIVE ROLL
(?339)

ﬂ %Tu

APPROVED

BY

DRG.NO:BNPM/PM/037/2017-18

\v%\@& oV




M60 SUIT TO
KM12 LOCK NUT
M16X30

DEPTH |

M10X3S

)

| BEARING POSITION
| TAPER 1:12

\ g

S @ 80-0.02

3 mm thick
cover plate

MOC-55-316

0.03

b
s

T I

|

/

@ 80 -0.02

M60 SUITTO
Kmi12 LOCK NUT

BEARING
POSITION

7n|| >

M16X30
DEPTH

\ M10x35

Vezzzzzzz=q

v
P
- 257 al 3200 it 257 Y
= font _
i 3714
Note: -
- 1. Bearing Seating area to be finished with + 60/70 BANK NOTE PAPER MILL INDIA PRIVATE LIMITED
SHELL z_om” - SEATALESS TUBE microns as per bearing no. SKF 22212 EK €3 ot seore o MYSORE-570003
_m"".__.”_w__.._ow .wnu.a MM 2. Roll has to be dynamically balanced at 250 MPM speed.
D00 3 nm_a.__s_s 3. Roll cover should be free of any blow holes and should SIGNATURE| DATE
mm«m” Hﬂmnﬂwm ..wr%_.,..azgcs_,._ozu have good finlsh. = WIRE & PRESS FELT ROLL
i 4. Roll should have parallel surface / ZERO camber. PREPARED] 5o I\ Tw & (9254)
COVER HARDNESS : 100° Shore A 5.Gudgeon of length 250 mm(MOC : CI GR 25 ) to be BY < B ~
shrink fitted in the shell on both sides.

6. Shaft to be shrink fitted to the Gudgeon on both sides.

CHECKED
BY

APPROVED
BY




